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I love Luecy. ' '
If L love Lucy, then I also love Vivian.
2 E-BEELACES (NS P &£¥F (12%)

Terminal T ={a, b, c}

Non-terminal N = {S, A, B}

Starting symbol 5

Productions P == {S—AB, A—ab, A—»aAb, B¢, B2Bc}
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4 - {78 equivalence relation + partial ordering relation fv total ordering relation ? 4%
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8 + Twao states are said to be O-equivalent if they have the same output. Two states are said to be

k-equivalent if they have the same output and if, for every input letter, their successors are
(k-1)}-equivalent for all k. Two states are equivalent if they are k-equivalent for all k.

For the finite state machine shown in Figure 2, find all equivalent states and obtain an
equivalent finite state machine with the smallest number of states. {15%)
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